Al ol & AF 2 & Al A
2013HE 20a XSANDNSALSEI
T 200 MlQla
2210 BHTA LY
g: 213 252849 (SHeada)
¥-g-g-5 Ofl & o &0l &k o4 HmE2
= 2,582,222 2,370,284 211,938
200 Al gl+9 2,582,222 2,370,284 211,938
210 BA XAl > 348,000 365,000 ~17,000
213 #524¢ 200,000 216,000 16,000
213-01 EX 4+ 200,000 216,000 ~16,000
<USEIY > 200,000 216,000 ~16,000
O+ & X B0 200,000,0002 * 14! 200,000
214 Atdg 144,000 144,000 0
214-02 FA Q3+ 144,000 144,000 0
<nESHIY > 144,000 144,000 0
OdUsSEE =+ 130,000,000 * 14! 130,000
HUSEEX FAHE+Y 14,000,0008 * 14! 14,000
216 OI Xt =2 4,000 5,000 A 1,000
216-01 3JUS0IXt ==& 4,000 5,000 ~1,000
<nsSHIY > 4,000 5,000 A1,000
IT0I2 oI xt & 4,000,00020 * 14! 4,000
220 YA HIQl4¢ 2,234,222 2,005,284 228,938
222 24013 350,000 90,000 260,000
222-01 &=MIAH L 013 350,000 90,000 260,000
<nEHIY > 350,000 90,000 260,000
O=HAL 02 350,000,0002 * 14| 350,000
224 HUZ 517,222 501,284 15,938
224-03 JIEtSIH M LS 517,222 501,284 15,938
<nsHIY > 517,222 501,284 15,938
Ogera a3 5,172,220,000 * 10% 517,222
207 243 455,000 360,000 95,000
227-02 LErRE3 455,000 360,000 95,000
<HSEIY > 455,000 360,000 95,000
oguregzasy 455,000
cCNERLTHS 250,000,0008 * 14! 250,000
CARSLLAFEZ SXHIS L3 30,000,0008 * 14 30,000
CNSASHREAFX 7,000,0002 * 14! 7,000
cSHSTHLIAUFT 10,000,0008 * 14! 10,000
oFRAMAFIE 150,000,0008 * 14! 150,000
CBHREAFIE 8,000,0002 * 14! 8,000




g 200 Mel+=¢
2 220 LAIEA >
gt 228 JIEt=+=2 (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
228 JIEt=¢ 455,000 547,000 292,000
228-03 WEH = 423,000 495,000 AT72,000
<usdEFH Y > 423,000 495,000 AT2,000
O=F Xt E 200,000,000& * 14 200,000
OXtESXHE I Z A<l Bt Dt EH 60,000,000& = 14| 60,000
OXtsxt2elgIetuE = 40,000,000& = 14 40,000
O2=MSYALUNEHZ 3,000,000& = 14! 3,000
OXMASHABNEHE 120,000,000& * 14 120,000
228-04 M SALO0IBLHS 30,000 50,000 220,000
<unsSHIY > 30,000 50,000 A20,000
ORHYXNHEE = 5,000,000& * 14| 5,000
OXgEEALE = 5,000,000& * 14 5,000
OS2 HREHHEZ 20,000,000& * 14 20,000
228-09 O2=+¢ 2,000 2,000 0
<usdEFH Y > 2,000 2,000 0
OSHLXXHXHS 2,000,000& = 14 2,000
229 At =2 457,000 507,000 250,000
229-01 At &= ==¢l 457,000 507,000 250,000
<NsSHIY > 457,000 507,000 /50,000
OXNdEE =g 457,000
oF=ZIUEHZ 150,000,000& = 14 150,000
oMATHIUHZ 200,000,000& * 14 200,000
oHIIZALEH = 100,000,000& * 14 100,000
o XS Xt2te|d et El 5,000,000& = 14! 5,000
o2 ALY RELUEH = 2,000,000& = 14 2,000
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2A NS
HE: CAX DEHM =X (+SUDE/HEDS - 2RSIIEH
Eel: ns2el(LEANNSALSESA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
207 A O] 19,000 19,000 0
01 289 19,000 19,000 0
OAUWHA Hl=AddEAL @ BENLESA
19,000,000& * 14l 19,000
ERAIEEALY B4 X 300,000 0 300,000
301 et d=s 300,000 0 300,000
12JEEd = 300,000 0 300,000
OSHAIHEALY ZS& XA 300,000,0008 = 1A 300,000
HEHE HgH 2el 96,046 124,599 A 28,553
101 124 dl 13,096 12,329 767
4 JI2ZtHZ22XEES 13,096 12,329 767
OULEHESHEH2e| dAAGCIRY 13,096
cJIE= 39,0003 = 1% = 2302 8,970
oFxsad 39,000 * 1H = 46 1,794
oIt 39,000& = 1& » 11 429
cA22RE 7,3202 * 50AI2t =1 366
c4HEE 1,537,000& * 14l 1,537
201 €24 78,310 78,470 A 160
01 At 22l 12,900 10,500 2,400
OUHE MEHLR s2SMH
1,500,000& * 2& 3,000
OdgdMz2e gadd 22 100,0008 * 28 200
ORSHAE U TA SeLs2
3,000& = 1000H 300
OfsEdI A AIRE2E 2
100,000& * 128 1,200
OfsEIX 2E sllE =cltl
20,000& * 504 1,000
OLEHE SFEDXAN & IX 23 Q]
0,000& = 1082 « 123 7,200
02 2324l 65,410 67,970 A 2,560
OlElE SFEDXAN €8 REZ
2703 = 112,000 30,240
OLHZ UBHEESR =8
200,000& = 12& 2,400
OILXNAMSEI RANE=HI 150,000& * 33l 450
OXMEHLHSMSZE R0l =2
203 = 50024 + 123 120
OHSEHIIIANAE S EH
300,000& = 73l 2,100
OULHE ANEEPZMALE KX L4
300,000& = 123 3,600
Otz AEFE TN E32
130& = 50,0002 6,500




2A NS
HE: CAX DEHM =X (+SUDE/HEDS - 2RSIIEH
Eel: ns2el(LEANNSALSESA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oltle dANYFACIAAE OIE2
20,000,000& * 14l 20,000
202 o4dl 4,640 800 3,840
01 = LH o4 1l 4,640 800 3,840
O DM R &==0iHl
100,000& * 2H =« 43| 800
OBs&IA L MK+ 2UH0HbI
20,0003 = 2% = 8 » 123 3,840
& Zatst AHEael 100,914 87,710 13,204
101 14 Hl 39,957 25,401 14,556
04 JIZHHZ2XREE S 39,957 25,401 14,556
OXNYSELR 2 MRS 39,957
=Jl2g 39,000& = 3% = 230 26,910
oFFH 39,000& = 3H = 46 5,382
cHXtsg 39,000& = 3" * 11 1,287
oA2A2RFE 7,320% * 3H * 50AI2t 1,098
c4HEH 5,280,000& = 14 5,280
201 Let24dy] 58,457 52,309 6,148
01 At 2teltl 27,792 22,194 5,598
OHFANRES 870,000& » 123 10,440
OSEadg A4S M2 10,000,000 = 14l 10,000
ONSAEES I & EE=MH
2,500,000 * 23 5,000
ONYS2YR 22N34
7,0008 * 7H » 3 «12E 1,764
OXYS=oaA HIXl &N 7Y
12,0008 = 28 = 12& 288
OXsissE2d gdE 2 50,0008 ~ 634 300
02 =224l 30,665 30,115 550
OS=2d 25 QU2Ls B2
1,750& = 1,200 » 128 25,200
OXNEESELSEEN HASH B2
95,000& » 7H 665
OgEssEZz JdEsAES
400,000& = 123 4,800
405 XHobF S HI 2,500 10,000 A7,500
01 AR ESFH S 2,500 10,000 AT7,500
OEll 7Y 2,500,000& * 14l 2,500
ol el gl 331,881 283,868 48,013
801 GilHI bl 331,881 283,868 48,013
01 olldldl 331,881 283,868 48,013
Ouulgl bl 331,881,000 = 14 331,881
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H: CAX WS FHA(+SLDNE/HERS - SFSIIEY)
Cel A2 (ZEANNSALSEFA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ANEZC (AENLSAEELESIA) 590,847 656,683 A 65,836
XHd &= A4 253,855 334,683 A 80,828
101 @14 Hl 42,455 40,283 2,172
04 JIZHHZ2XRHEES 42,455 40,283 2,172
OXNEET M UAAIG IR H=
51,200& = 150 » 49 30,720
OXNETH ANAS o
51,2003 = 23 = 49 4,711
ORI CA UAAROIS QIXf g
51,2003 = 5 » 49 1,024
o4 6,000,000& * 14! 6,000
201 LBt 17,000 13,000 4,000
01 At 22l 1,200 1,200 0
OXMTA HATIS Hejs 7ol
00,000& » 6% 1,200
02 2324l 15,800 11,800 4,000
OLMIE SFNERE=S 150,000& * 204 300
O MR =&KX b 10,000,000& = 1CH 10,000
O Jts8 IHAY 1,500,000& * 14 1,500
ORMESAEI RIS 2,000,000& = 14l 2,000
OXHEHMAHI FXNE S 2,000,000& = 14l 2,000
202 44l 2,400 2,400 0
01 = LH 4 1l 2,400 2,400 0
OusAlE g2=& o4l
200,000& = 6% * 23] 2,400
206 M= Hl 190,000 170,000 20,000
01 M2 4l 190,000 170,000 20,000
OXNEEME HEeE 28 60,0008 * 2,000& 120,000
OXMEEME Rl 2¢  40,000& * 1,750% 70,000
305 a2 S 2,000 2,000 0
01 Hia=E 2,000 2,000 0
OXEMAE U OHE e B2
2,000,000& * 14 2,000
dMss X 2 2el 336,992 322,000 14,992
201 Let24E] 76,992 72,000 4,992
02 =224l 76,992 72,000 4,992
Odls 38,2838 A=
6,416,000& * 128 76,992
401 Al HIZ 201 260,000 250,000 10,000
01 A& HI 255,000 245,000 10,000
OunsStss&EX 50,000,000 = 14l 50,000
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HE: CAX DEHM =X (+SUDE/HEDS - 2RSIIEH
Cel A2 (ZEANNSALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OL=HMOAI A 10,000,000& * 30H A& 30,000
O&deEs &X 10,000,000 = 1002 10,000
OLEDu S EXI® &X 3,000,000& = 504 15,000
OdsIl RAE=+= 120,000,000& * 14l 120,000
Odls AS3t ExZ A 20,000,000& = 14 20,000
OXel WSASI| AX3A
2,000,000& = 5JH A 10,000
03 Al S HHI 5,000 5,000 0
OuSHSSEX AL
5,000,000& » 14! 5,000
QIEN NESHY FE(+LLRE/HELS - RS 891,245 902,553 A 11,308
EH)
AP 22 (LENNSAILELEZA) 356,010 304,447 51,563
EYFEX 22 356,010 304,447 51,563
101 @124l 46,316 43,613 2,703
04 JIZHHZ2Z2XNSE =+ 46,316 43,613 2,703
OF2XNNY FICEF LAALARY 33,255
=lles 45,8009 * 2¥ * 230 21,068
o A2l =G 8,590& * 150AI2t = 2& 2,577
oFxsad 45,8003 * 2% 46 4,214
oIt 45,8003 * 2% » 11 1,008
c4UHEH 4,388,000& 14 4,388
ORI AAAGR 13,061
cJIE2= 39,000& » 1989 » 230 8,970
oFFd 39,0003 = 1% = 46 1,794
oIt 39,000& = 1&¥ » 11 429
cAHEH 1,868,000& * 14 1,868
201 LEr2 Y| 154,894 137,534 17,360
01 At 22l 19,154 18,154 1,000
OFXHt=3 I=Hl 500,000& = 109 5,000
ORoZaa == Tj=Hl  150,0008 * 3H 450
ORoltts & AQIX2YE g4l
7,000& = 7H » 8 » 123 4,704
Ousi& 83 MA 5,000,000& = 14 5,000
OnszHe s22HA 4,000,000& 14! 4,000
02 2324l 135,740 119,380 16,360
O2eoltniet Al &8l KXl
180,000 » 2904 = 123 62,640
OfR&I & AHH KUl
3,000,000& * 14l 3,000
OSAZYR Z208 RA2A2/H(25)
500,000& = 12& 6,000




SN DEBF DY
Hu: USN DEHZ 7
e

=
te: Y 2| (LEANNSMLSEI A

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OXNERANH(BEEZ2, £&4H &)
300,0008 = 3CH  12& 10,800
OXE SIHI (==X, S M, AR
200,000 = 6CH ~ 12€ 14,400
OFFUSAY BEH2 Lo 22
1,750 * 1,500 ~ 12€ 31,500
OngloletdnN=Es JIAMFPL
2,000,000& = 14l 2,000
OQuUusSHNINE 294
70,000 * 4% x 53| 1,400
OuUSAMINZI2s2ERY
2,000,000& = 14l 2,000
Ofd¢exIxe HXHl XIg 200,0008 = 10CH 2,000
202 04| 22,800 22,800 0
01 2L Y| 22,800 22,800 0
OSANEYR L AgH 22 S0
100,000& * 49 * 123] 4,800
OF A& B0/
150,000& = 10¥Y = 12& 18,000
301 et A= 5,500 4,000 1,500
10 HALAHI B &2 4,000 4,000 0
OuUNSSAIE0F #HAZENH X
200,000® * 5% x 43| 4,000
12 J|EtE2 A= 1,500 0 1,500
OunsSAMIHEEESsSSHH T=sH X3
300,000 = 5H 1,500
305 A2 S 2,500 2,500 0
01 HIAZSS 2,500 2,500 0
OXHAHQ 3= HiaA=2 2,500,0008 = 14! 2,500
401 AIEHIZL 201 Y| 124,000 94,000 30,000
01 Al&H| 124,000 94,000 30,000
O=R90IItH et & X 40,000,000 = 201 A& 80,000
ORoSEIHe dsHd
30,000,000 * 14! 30,000
ORoSEIH e AEE
1,000,000 = 10CH 10,000
OFEIIZXNEXT HH| 4,000,000& = 14! 4,000
WEEA HHUSHUSAMUSASEEESH) 535,235 598, 106 NB2,871
FAE A2 170,878 164,454 6,424
101 21 214| 120,678 116,254 4,424
04 JI2tHIZ22NEE S 120,678 116,254 4,424
OHdUSZEFIE LAIAMGEA 90,868
ollgag 45,800 « 6% x 230 63,204




2A NS
H: QA=Y NEEE PE(+S5LLE/NWSWE - 27SIIE)
©el: nsEd HAS(LEANLSMHEELSA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ocXts¢ 45,8003 * 6Y » 11 3,023
oFF 45,800& * 6F = 46Y 12,641
SIlEH4AUBES) 12,000,000& = 14l 12,000
OHUHEEXNFIE LAAIG 2 29,810
=Jleg 45,800 * 29 * 230 21,068
oIt 45,8003 * 2% » 11 1,008
oFxsad 45,8003 * 2% 46 4,214
oJIEH4UEE) 3,520,000& * 14 3,520
201 Let24d] 15,200 13,200 2,000
01 At 22/l 7,200 7,200 0
OZYFEANZHYSY 425 7Y
6,000,000& = 14 6,000
OZEF:XNE2RA II=27L  150,0008 * 8Y 1,200
02 2324l 8,000 6,000 2,000
OFXAN2HEX =8dKRX & 2=
8,000,000& * 14 8,000
305 that= S 5,000 5,000 0
01 a3 E 5,000 5,000 0
OZY=NZI(NYRY) Hyfle 24
5,000,000& * 14 5,000
401 A& HIZ 201 Y| 30,000 30,000 0
01 A& HI 30,000 30,000 0
O3ZF=xd RlE= & &X
30,000,000& * 14l 30,000
SLE(HA - 8A) X &L 22 224,373 265,068 A40,695
101 @14 Hl 8,373 9,068 A 695
04 JIZHHZ22XREE S 8,373 9,068 A 695
OL2E B AR 8,373
=lleg 51,2003 = 2% = 60 6,144
oFFH 51,200& = 2H = 10 1,024
SRUPN IS 51,2003 * 28 » 2¢& 205
c4HEH 1,000,000& * 14l 1,000
201 Let24E] 6,000 6,000 0
01 At 22l 6,000 6,000 0
OAMUWBH A SEAIZE HHl(=4d)
6,000,000 * 14l 6,000
401 Al HIZ 201 I 210,000 250,000 A 40,000
01 A& HI 210,000 250,000 240,000
O&s2% |X E=Hl 50,000,000& = 14l 50,000
OsZEEXN & =2 AELuH
10,000,000& * 1694 A& 160,000




2N DEHHY
M QAFH NESHE PE(+sYLUS/HEZNS - SFSIIE
o2 nssd HAHASF(LSANNSALSSEIA) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
WEOHMAIE X ¥ 22l 139,984 168,584 N 28,600
201 Yer2 2t 22,984 22,584 400
01 AFR 22l bl 16,984 16,584 400
OQuEoMAd2IE2 AR2E 2
10,000,000& * 14 10,000
OnsEod E2=2 M 2,000,000 = 14! 2,000
OnNsSHEAE AR 24
7,000& * 498 x 92 x 12& 3,024
OQUNEHESRANAMAAR/S AL
70,000& = 7H * 43| 1,960
02 33249l 6,000 6,000 0
OANE&EAX S =&KX ] 500,000& = 12& 6,000
206 M = dl 10,000 24,000 A 14,000
01 & bl 10,000 24,000 A 14,000
OoxzAME *¢ 40,0008 * 2504 10,000
305 & 2 S 2,000 2,000 0
01 i3S 2,000 2,000 0
OuS A=l 2 012kl 2AX S H|
2,000,000& = 14! 2,000
401 Al HI L 2 0HHI 105,000 120,000 A 15,000
01 A&l 105,000 120,000 A 15,000
OXZAME &XSAt 10,000,000 * 14] 10,000
OusSHNMEX T AX| 20,000,000& * 14 20,000
ONEUHFANLE RANEX 50,000,000& * 14 50,000
O0lH=Z2 X (LS8 ) 10,000,000& * 14 10,000
Octd&asS LHM3A 1,500,000& = 1004 A 15,000
M2 AAY (REAE D) (IIEH/IIE) 168,221 124,087 44,134
CIHRSAH| (L EANLEANTELHSAH) 168,221 124,087 44,134
ol 2| 168,221 124,087 44,134
101 2124 4| 168,221 124,087 44,134
03 2 HA22RE = 168,221 124,087 44,134
ORoItEMEA 22X Ol2AY| 100,458
oJlga2 1,249,600 * 398 = 1201 & 44,986
ol 1,249,600& * 3Y * 400% 14,996
oA Xt4& 69,0643 * 3Y¥ x 25Y 5,180
o ™M ZAH| 160,000 * 3Y = 1201 & 5,760
o HAEF Y| 1,249,600 = 3H * 120% 4,499
oclIE44¢ 80,000& = 3% x 12&€ 2,880
oXtHSHI B XL 419,090& * 3Y * 43| 5,030
o N2 EE 8,633& * 3H x 150A| 2t 3,885
oJIEt4UHEES) 13,242,000& * 14 13,242




SA: REWED
M HE2IZH(LS#E ) (JIEH/IIE
el 2L (LXSANRSASSLEA) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
OQuUSANESEX 22X A 67,763
=lleg 1,161,950& * 29 » 128 27,887
ol Yd 1,571,950& = 2 » 200% 6,288
o Xl A CHE Y| 1,571,950& * 29 » 250% 7,860
ocdZad 1,571,950& * 298 * 50% 1,572
o Mg AHI 160,000& » 2H » 12& 3,840
o JtH 2 &HI 110,000& * 29 » 123 2,640
ocEESIHHI 1,431,950& » 2 * 120% 3,437
oA+ 60,000& = 2H = 12& 1,440
cuwsE X 140,000& » 2H » 128 3,360
CIIEE 80,000& = 2 = 12& 1,920
oAU RLY
10,4953 2% = 10Al2t » 128 2,519
cJIEH4AUEES) 5,000,000& * 14! 5,000




